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BTN E
ﬁ I H 4w fr|EwEm|4 H20H |[5H16H | 6 H1H |TH20H [8H22H|9H14H [10H19H|11H21H(|12H14H|1H23H |2H13H|[3H 18H
1| i “H L | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 | B B e S B ST RSP B ST R S h 3 B ash | B tsn | Bt S P RSP RIS P RSP s h 5
IRV A K OZ DA A | me/L |0.003 — 0.0003 A3 — — 0.0003 A i — — 0.0003 A i — — 0.0003 A7 —
4Pk B K OV %F © b & | meg/L |0 0005 — 0.0000543ii — — — — — — — — — —
5L v kO F o4& B me/l |0.01 —  [0.001K3| — —  |0.00LA|  — —  |0.001K3| — —  |0.001K3H|  —
6ltn & 0 = @ b & | mgL |0.01 — |0.001K5H| — —  [0.001K35|  — — [0.001K5| — — |o.0010| —
Tl F Kk O F o b A B mgL |0.01 —  |0.001A%| — —  |0.001A&%H|  — —  |0.001A%H| — —  |0.001AK0E| —
gl i 7 = A b A | meL [0.02 —  |0.002K3w| — —  |0.002A|  — —  |0.002AK4|  — —  |0.002K4w|  —
9 |H 4 B % H| me/L |0.04 —  ]0.004K5H| — — — — — — — — — —
10|> 7 A A 4 R UL 7| mg/L | 0. 01 —  |0.001A0|  — — |0.001A4|  — —  |0.001A3| — —  |0.001K4| —
11 |l e fe e 5 R O 0 A 9 2 % F| me/l | 10 — 4.1 — — 2.7 — — 2.6 — — 3.1 —
12[7 v % & O 2 ©{t & | met | 0.8 — 0.33 — — 0.32 — — 0.36 — — 0.30 —
138 7 #F K 0% Ot & %] me/l | 1.0 — 0. 1A — — 0. 1A — — 0. 1A — — 0. 1 A3 —
14| i) {k |75 F| me/L | 0.002 — 0.0002 A3 — — 0.0002 A i — — 0.0002 A5t — — 0.0002A4 3 —
54~ ¥ 4 F % | mgL [0.05 —  |0.005K3|  — —  |0.005K3|  — —  |0.005K4|  — —  [0.005K3| —
16 f; ;lfifiiiiiéﬁi? meg/l | 0.04 [  —  0.004AH|  — —  |0.0045K7| — — |0.004K0|  — —  |0.0045k5s| —
171 7 v v A & | mg/L |0.02 —  |0.002K%| — —  |0.002K%|  — —  |0.0025K%| — —  |0.002K%| —
87 r 7 7287 = F L | mg|0.01 — |0.001K5H| — —  [0.001K315|  — — [0.001K0]| — — |o.001K0|  —
9 UV 7 v v = F L mgl |0.0] —  |0.001AK0|  — —  [0.001A3| — —  |0.001A3| — —  |0.001K3H|  —
20|~ v ¥ >| me/L | 0.01 —  [0.001K3|  — —  |0.001K3| — —  |0.001A| — —  [0.001K3| —
21 |H =S Wz| me/L | 0.6 — 0.08 — — 0.08 — — 0.06 A — — 0.06 A1 —
22|~ = G | mg/L | 0.02 —  [0.002K3| — —  |0.002K%5|  — —  |0.002K4| — —  |0.002K3H| —
237 v w A& v A mg/L [0.06 — 0.002 — — 0.003 — — 0.001 — —  |0.001Kfm| —
241y 7 = wm  EE B mg/L |0.03 —  |0.003AK0|  — —  |0.003AK%H| — —  |0.003A3| — —  |0.003K0H|  —
%l 7 e ' s e 27 o w01 — 0.003 — — 0.004 — — 0.003 — — 0.003 —
26 |~ H# fik| me/L | 0.01 —  |0.001A0|  — — [0.001Aw|  — —  |0.00LA%| — —  |0.001AK%|  —
o1l ~ U N m 2 & | mel | 0.1 — 0.010 — — 0.012 — — 0.007 — — 0.006 —
28| U 7 m w  EE BBl mg/L |0.03 —  |0.003A&0|  — —  |0.003A&%H| — —  |0.003A3H|  — —  |0.003K0H| —
297 v ® Y 7 na 2% | 003 — 0.003 — — 0.004 — — 0.002 — — 0.002 —
307 v ® A& A A mgL |0.09 — 0.002 — — 0.001 — — 0.001 — — 0.001 —
3lf&x v & 7 A F v F| mg/L |0.08 —  |0.008K|  — —  |0.008K3|  — —  |0.008A|  — —  [0.008K3| —
2 4 K 0% o b A& W me/l | 1.0 — 0.05A1ifi — — 0.05 A5 — — 0.05A i — — 0.05Aifi —
3BB[TAI=T LK OZEDE Y| ne/L | 0.2 — 0.02Aifi — — 0.02 A5 — — 0.02 A5 — — 0.02Aifi —
4|8k & O = O bt A& | meL | 0.3 — 0.03 A1 — — 0.03 A3 — — 0.03A1i — — 0.03 A1 —
3B K O o b A& | mel | 1.0 — 0.05A T — — 0.05 AT — — 0.05 AT — — 0.05 AT —
36[F RV Y LK OE DAL A W] me/L | 200 — 11 — — 10 — — 12 — — 13 —
3Tl v v kO F ok & | me/L [0.05 —  |0.005K0|  — —  |0.005AK%#|  — —  |0.005A3#|  — —  |0.005K0H| —
8l b ¥ 4 A | me/L | 200 13 12 12 9.5 11 10 12 13 15 14 15 13
39 vy, w7 ke % ()| me/L | 300 — 85 — — 80 — — 86 — — 94 —
401 % % ® | mg/L | 500 — 190 — — 180 — — 160 — — 170 —
a1k 4 & » Fom & M H| me/L | 0.2 — 0.02 K3 — — — — — — — — — —
21 = A A X | mg/L | o000 — 0.000001 A5 — — — — — — — — — —
4312 — AF )V A4 VIR )V R A — JL| mg/L | 0.00001 — 0.000001 A1 — — — — — — — — — —
443 4 A v R om IE tE Al me/L | 0.02 —  [0.005K7H|  — —  [0.005K%5|  — —  [0.005A%|  — — |0.005K7H|  —
457 = 7 — b | mg/L |0.005 — 0.0005 A — — — — — — — — — —
46|65 B ® ( TOC ©» B )| mg/L | 3 0.7 0.8 0.7 0.8 0.8 0.8 0.7 0.7 0.7 0.7 0.7 0.6
47 o H fiE ~5'88.6 6.9 6.8 6.9 7.5 6.8 6.8 6.9 6.8 6.9 6.9 7.0 6.9
48 Bk RO B | BERL | BERL | BERL | BERL | BERL | BERL | BERL | BERL | BERL | BEeL | Rl
49 |~ = RO B | BERL | BERL | BERL | BERL | BERL | BERL | BERL | BERL | BEeL | BEeL | BElL
50 [ s 5 IE S IEST| LA 1A IE ST LA IEST| LAl 1At IE ST 1A IEST
51| E| B 2 | 0.1 | O.1AWM | O.1AM | 0.1 | 0.1 | O.1AM | O.1AM | O.1AM | O.1AM | 0.1AM | 0.1 | 0.1

% £ i #| mg/L o1kl 0.3 0.3 0.4 0.2 0.3 0.4 0.4 0.3 0.4 0.4 0.3 0.4
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ﬁ I H 4w fr|EwEm|4 H20H |[5H16H | 6 H1H |TH20H [8H22H|9H14H [10H19H|11H21H(|12H14H|1H23H |2H13H|[3H 18H
1| i “H L | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 | B B e S B ST RSP B ST R S h 3 B ash | B tsn | Bt S P RSP RIS P RSP s h 5
IRV A K OZ DA A | me/L |0.003 — 0.0003 A3 — — 0.0003 A i — — 0.0003 A i — — 0.0003 A7 —
4Pk B K OV %F © b & | meg/L |0 0005 — 0.0000543ii — — — — — — — — — —
5L v kO F o4& B me/l |0.01 —  [0.001K3| — —  |0.00LA|  — —  |0.001K3| — —  |0.001K3H|  —
6ltn & 0 = @ b & | mgL |0.01 — |0.001K5H| — —  [0.001K35|  — — [0.001K5| — — |o.0010| —
Tl F Kk O F o b A B mgL |0.01 —  |0.001A%| — —  |0.001A&%H|  — —  |0.001A%H| — —  |0.001AK0E| —
gl i 7 = A b A | meL [0.02 —  |0.002K3w| — —  |0.002A|  — —  |0.002AK4|  — —  |0.002K4w|  —
9 |H 4 B % H| me/L |0.04 —  ]0.004K5H| — — — — — — — — — —
10|> 7 A A 4 R UL 7| mg/L | 0. 01 —  |0.001A0|  — — |0.001A4|  — —  |0.001A3| — —  |0.001K4| —
11 |l e fe e 5 R O 0 A 9 2 % F| me/l | 10 — 1.6 — — 1.2 — — 0.7 — — 1.0 —
12[7 v % & O 2 ©{t & | met | 0.8 — 0.38 — — 0.39 — — 0.45 — — 0.36 —
138 7 #F K 0% Ot & %] me/l | 1.0 — 0. 1A — — 0. 1A — — 0. 1A — — 0. 1 A3 —
14| i) {k |75 F| me/L | 0.002 — 0.0002 A3 — — 0.0002 A i — — 0.0002 A5t — — 0.0002A4 3 —
54~ ¥ 4 F % | mgL [0.05 —  |0.005K3|  — —  |0.005K3|  — —  |0.005K4|  — —  [0.005K3| —
16 f; ;lfifiiiiiéﬁi? meg/l | 0.04 [  —  0.004AH|  — —  |0.0045K7| — — |0.004K0|  — —  |0.0045k5s| —
171 7 v v A & | mg/L |0.02 —  |0.002K%| — —  |0.002K%|  — —  |0.0025K%| — —  |0.002K%| —
87 r 7 7287 = F L | mg|0.01 — |0.001K5H| — —  [0.001K315|  — — [0.001K0]| — — |o.001K0|  —
9 UV 7 v v = F L mgl |0.0] —  |0.001AK0|  — —  [0.001A3| — —  |0.001A3| — —  |0.001K3H|  —
20|~ v ¥ >| me/L | 0.01 —  [0.001K3|  — —  |0.001K3| — —  |0.001A| — —  [0.001K3| —
21 i ES k| me/L | 0.6 — 0.06 A i — — 0.10 — — 0.07 — — 0.06 A i —
22|~ = G | mg/L | 0.02 —  [0.002K3| — —  |0.002K%5|  — —  |0.002K4| — —  |0.002K3H| —
23l = owm & o A meL |0.06 — 0.002 — — 0.004 — — 0.003 — — 0.001 —
241y 7 = wm  EE B mg/L |0.03 —  |0.003AK0|  — —  |0.003AK%H| — —  |0.003A3| — —  |0.003K0H|  —
%l 7 e ' s e 27 o w01 — 0.002 — — 0.003 — — 0.003 — — 0.002 —
26 |~ H# fik| me/L | 0.01 —  |0.001A0|  — — [0.001Aw|  — —  |0.00LA%| — —  |0.001AK%|  —
o1l ~ U N m 2 & | mel | 0.1 — 0.009 — — 0.012 — — 0.010 — — 0.005 —
28| U 7 m w  EE BBl mg/L |0.03 —  |0.003A&0|  — —  |0.003A&%H| — —  |0.003A3H|  — —  |0.003K0H| —
297 v ® Y 7 na 2% | 003 — 0.003 — — 0.005 — — 0.004 — — 0.002 —
30[7 = = A& A A mg/L |0.09 — 0.002 — —  [0.001K5| — —  |0.001AK4#| — —  |0.001K3H|  —
3lf&x v & 7 A F v F| mg/L |0.08 —  |0.008K|  — —  |0.008K3|  — —  |0.008A|  — —  [0.008K3| —
2 4 K 0% o b A& W me/l | 1.0 — 0.05A1ifi — — 0.05 A5 — — 0.05A i — — 0.05Aifi —
3BB[TAI=T LK OZEDE Y| ne/L | 0.2 — 0.02Aifi — — 0.02 A5 — — 0.02 A5 — — 0.02Aifi —
4|8k & O = O bt A& | meL | 0.3 — 0.03 A1 — — 0.03 A3 — — 0.03A1i — — 0.03 A1 —
3B K O o b A& | mel | 1.0 — 0.05A T — — 0.05 AT — — 0.05 AT — — 0.05 AT —
36[F RV Y LK OE DAL A W] me/L | 200 — 13 — — 12 — — 15 — — 15 —
3Tl v v kO F ok & | me/L [0.05 —  |0.005K0|  — —  |0.005AK%#|  — —  |0.005A3#|  — —  |0.005K0H| —
8l b M A4 A | meL | 200 10 11 10 8.5 11 9.3 10 11 12 11 12 9.3
39 vy, w7 ke % ()| me/L | 300 — 76 — — 72 — — 87 — — 87 —
401 % % ® | mg/L | 500 — 160 — — 170 — — 160 — — 150 —
a1k 4 & » Fom & M H| me/L | 0.2 — 0.02 K3 — — — — — — — — — —
21 = A A X | mg/L | o000 — 0.000001 A7 — — — — — — — — — —
4312 — AF )V A4 VIR )V R A — JL| mg/L | 0.00001 — 0.000001 A1 — — — — — — — — — —
443 4 A v R om IE tE Al me/L | 0.02 —  [0.005K7H|  — —  [0.005K%5|  — —  [0.005A%|  — — |0.005K7H|  —
457 = 7 — b | mg/L |0.005 — 0.0005 A — — — — — — — — — —
46|65 B ® ( TOC ©» B )| mg/L | 3 1.0 1.0 1.0 1.1 1.0 1.1 1.0 1.0 0.8 0.8 0.7 0.9
47 o H fiE ~5'88.6 7.0 7.0 6.9 7.3 6.9 6.9 7.0 7.0 7.0 7.0 7.1 7.0
48 Bk RO Bewial | BAEseL | BERL | BERL | Bl | BEeL | BERL | BEleL | BEeL | BERL | Bl | Bl
49 |~ = RO B | BERL | BERL | BERL | BERL | BERL | BERL | BERL | BERL | BEeL | BEeL | BElL
50 | s 5 IE S IEST| LA 1A IE ST LA IEST| LAl 1At IE ST 1A IEST
51| E| B 2 | 0.1 | O.1AWM | O.1AM | 0.1 | 0.1 | O.1AM | O.1AM | O.1AM | O.1AM | 0.1AM | 0.1 | 0.1
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1| i “H L | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 | B B e S B ST RSP B ST R S h 3 B ash | B tsn | Bt S P RSP RIS P RSP s h 5
IRV A K OZ DA A | me/L |0.003 — 0.0003 A3 — — 0.0003 A i — — 0.0003 A i — — 0.0003 A7 —
4Pk B K OV %F © b & | meg/L |0 0005 — 0.0000543ii — — — — — — — — — —
5L v kO F o4& B me/l |0.01 —  [0.001K3| — —  |0.00LA|  — —  |0.001K3| — —  |0.001K3H|  —
6ltn & 0 = @ b & | mgL |0.01 — |0.001K5H| — —  [0.001K35|  — — [0.001K5| — — |o.0010| —
Tl £ & 0% 0k A& B meL |0.01 — 0.001 — —  [0.001K%5| — — 0.001 — — 0.001 —
gl i 7 = A b A | meL [0.02 —  |0.002K3w| — —  |0.002A|  — —  |0.002AK4|  — —  |0.002K4w|  —
9 |H 4 B % H| me/L |0.04 —  ]0.004K5H| — — — — — — — — — —
10|> 7 A A 4 R UL 7| mg/L | 0. 01 —  |0.001A0|  — — |0.001A4|  — —  |0.001A3| — —  |0.001K4| —
11 |l e fe e 5 R O 0 A 9 2 % F| me/l | 10 — 1.7 — — 2.0 — — 1.6 — — 1.5 —
12[7 v % & O 2 ©{t & | met | 0.8 — 0.29 — — 0.26 — — 0.29 — — 0.26 —
138 7 #F K 0% Ot & %] me/l | 1.0 — 0. 1A — — 0. 1A — — 0. 1A — — 0. 1 A3 —
14| i) {k |75 F| me/L | 0.002 — 0.0002 A3 — — 0.0002 A i — — 0.0002 A5t — — 0.0002A4 3 —
54~ ¥ 4 F % | mgL [0.05 —  |0.005K3|  — —  |0.005K3|  — —  |0.005K4|  — —  [0.005K3| —
16 f; ;lfifiiiiiéﬁi? meg/l | 0.04 [  —  0.004AH|  — —  |0.0045K7| — — |0.004K0|  — —  |0.0045k5s| —
171 7 v v A & | mg/L |0.02 —  |0.002K%| — —  |0.002K%|  — —  |0.0025K%| — —  |0.002K%| —
87 r 7 7287 = F L | mg|0.01 — |0.001K5H| — —  [0.001K315|  — — [0.001K0]| — — |o.001K0|  —
9 UV 7 v v = F L mgl |0.0] —  |0.001AK0|  — —  [0.001A3| — —  |0.001A3| — —  |0.001K3H|  —
20|~ v ¥ >| me/L | 0.01 —  [0.001K3|  — —  |0.001K3| — —  |0.001A| — —  [0.001K3| —
21 |4 =S Wz| me/L | 0.6 — 0.09 — — 0.17 — — 0.06 — — 0.06 A1 —
22|~ = G | mg/L | 0.02 —  [0.002K3| — —  |0.002K%5|  — —  |0.002K4| — —  |0.002K3H| —
237 = v & 4 4| mg/L |0.06 — 0.001 — — 0.002 — —  |0.00LA%H| — —  |0.001K3| —
241y 7 = wm  EE B mg/L |0.03 —  |0.003AK0|  — —  |0.003AK%H| — —  |0.003A3| — —  |0.003K0H|  —
Bl 7 mE s e A X 2 mgl |01 — 0.002 — — 0.002 — — 0.001 — —  |0.001K0m| —
26 |~ H# fik| me/L | 0.01 —  |0.001A0|  — — [0.001Aw|  — —  |0.00LA%| — —  |0.001AK%|  —
21 U N m A & | mg/L | 0.1 — 0.006 — — 0.006 — — 0.001 — —  |0.001Kg| —
28| U 7 m w  EE BBl mg/L |0.03 —  |0.003A&0|  — —  |0.003A&%H| — —  |0.003A3H|  — —  |0.003K0H| —
297 v ® Y 7 na 2% | 003 — 0.001 — — 0.002 — —  [0.001K5|  — — |o.001k0H|  —
30[7 = = A& A A mg/L |0.09 — 0.002 — —  [0.001K5| — —  |0.001AK4#| — —  |0.001K3H|  —
3lf&x v & 7 A F v F| mg/L |0.08 —  |0.008K|  — —  |0.008K3|  — —  |0.008A|  — —  [0.008K3| —
2 4 K 0% o b A& W me/l | 1.0 — 0.05A1ifi — — 0.05 A5 — — 0.05A i — — 0.05Aifi —
3BT A=Y L RZEOLA Y| me/l | 0.2 — 0.02 A — — 0.02A i — — 0.02 — — 0.02 A3 —
Ml B O = o b & | meL | 0.3 — 0.03 A1 — — 0.03 A3 — — 0.03A1i — — 0.03 A1 —
35080 & Y = O b A | mel | 1.0 — 0.05A T — — 0.05 AT — — 0.05 AT — — 0.05 AT —
36| FU T A K OE DAL A | me/l | 200 — 11 — — 10 — — 13 — — 12 —
3Tl v v kO F ok & | me/L [0.05 —  |0.005K0|  — —  |0.005AK%#|  — —  |0.005A3#|  — —  |0.005K0H| —
Bl b W A4 & | me/ | 200 | 5.0 6.7 6.3 5.6 6.6 5.7 5.6 5.8 6.3 5.0 A5 6.0 5.0
39 vy, w7 ke % ()| me/L | 300 — 51 — — 47 — — 57 — — 56 —
401 % % ® | mg/L | 500 — 120 — — 130 — — 110 — — 110 —
a1k 4 & » Fom & M H| me/L | 0.2 — 0.02 K3 — — — — — — — — — —
21 = A A X | mg/L | o000 — 0.000001 A7 — — — — — — — — — —
4312 — AF )V A4 VIR )V R A — JL| mg/L | 0.00001 — 0.000001 A1 — — — — — — — — — —
443 4 A v R om IE tE Al me/L | 0.02 —  [0.005K7H|  — —  [0.005K%5|  — —  [0.005A%|  — — |0.005K7H|  —
457 = 7 — b | mg/L |0.005 — 0.0005 A — — — — — — — — — —
46|15 ¥ B ( TOC @ & )| meg/L | 3 | 0.3K% | 0.35K0i | 0.3 0.3 0.3 0.35K0 | 0.3 | 0.3 | 0.3 | 0.35K% | 0.3AK | 0.3
47 o H fiE ~5'88.6 7.2 7.1 7.1 7.7 7.1 7.1 7.1 7.2 7.1 7.2 7.2 7.2
48 Bk RO Bewial | BAEseL | BERL | BERL | Bl | BEeL | BERL | BEleL | BEeL | BERL | Bl | Bl
49 |~ = RO B | BERL | BERL | BERL | BERL | BERL | BERL | BERL | BERL | BEeL | BEeL | BElL
50 | s 5 IE S IEST LA 1A IE ST LA LA LAl 1At IE ST 1A IEST
51| E| B 2 | 0.1 | O.1AWM | O.1AM | 0.1 | 0.1 | O.1AM | O.1AM | O.1AM | O.1AM | 0.1AM | 0.1 | 0.1
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e FH K R BT 7 I B IEM | VL LKTER | PE LS 2 K R
i H H Za A 9HI19H 9H19H 9H19H 9H19H 9H19H
1l — fix il ImL 0 0 0 0 0
2] Xk iV Mt Mt d Bt d Bt s s
3l W RIT AR O ZEDIEDY mg/L 0.0003 A 0.0003 it 0.0003 it 0.0003 it 0.0003 it
41 kK 8B & &8 2 o &b & W mg/L 0.00005 A4 0.00005A1it 0.00005A1i 0.00005A1i 0.00005 A i
5l v v kO E DL AW mg/L. 0.001 A3 0.001 A5 0.001 A5 0.001 A5 0.001 A5
6|l ¢ & W & O b & W mg/L 0.001 Al 0.001 A3 0.001 A 0.001 A5 0.001 A i
e £ K W o b A W mg/L 0.001 At 0.001 A 0.001 A i 0.003 0.001
sl M 2 v & f A B mg/l 0.002A35 0.002 A5 0.002Ai5 0.002Ai5 0.002 A5
9 | i il i %= #| mg/L 0.004 A i 0.004 A5 0.004 A3 0.004 A3 0.004 A3
k- 7vtwm a4k 0y 7| mg/ll 0.001 A 0.001 A 0.001 A 0.001 A ¥ 0.00 1A
11 |my me fe % 3% K O W ORY B RE % %E| me/L 2.3 3.0 0.6 1.1 1.5
1217 v £ Kk O % o {t A& M| mgl 0.32 0.39 0.42 0.25 0.30
Bk v £ kK & = o kb & # mg/lL 0. LA 0. 1K 0. 1K 0. 1K 0. LAt
14 | H 1t 173 #|  mg/L 0.0002A i 0.0002A4 75 0.0002A47i5 0.0002Ai5 0.0002A7i5
15 |1,4- 2 7 =3 VA | mg/L 0.005Ai5 0.005A1i5 0.005Ai3 0.005Ai3 0.005i
el o DL LY me 00044 00045 00043 00043k 0.004Kf
17 | % = = A i Y| mg/L 0.002A3i 0.002A75 0.002A75 0.002A7i 0.002A7i
87 v 3 7 v v = F L v mgl 0.001 A3 0.001 Al 0.001 A 0.001 A 0.001 A
vk v 7 v v o= F oL o mg/l 0.001 A5 0.001 A5 0.001 A5 0.001 A5 0.001 A5
20 | > ¥ | me/L 0.00 1A 0.001 A5 0.001 A5 0.001 A5 0.001 A5
21 & ES f2l  mg/L — — — — —
22 |7 = = W M| mg/L — — — — —
23 |7 o AN % Xl mg/L — — — — —
24 | = = e B2|  mg/L — — — — —
%l 7 v ® 7 v v X ¥ v mg/L — — — — —
26 | ES B2l mg/L — — — — —
27 & KD 2N = | mg/L — — — — —
28 |k ) Z = = W M| mg/L — — — — —
2917 = = v 7 v oo #x & o mg/lL — — — — —
30 |7 =i * R JL A mg/L — — — — —
31 » A5 7T v T | Rl mg/L — — — — —
2 #H X O o {t A& W me/l 0.05 A7 0.05 A7 0.05 A7 0.05 475 0.05 A7
Bl =9 a kB E oA W mg/lL 0.024 it 0.024if 0.024if 0.02A3i5 0.024 i
Ml K o o A& B me/L 0.03 A3 0.07 0.03 A5 0.03 A5 0.03 A5
Bl ko o A& | me/lL 0.05 A7 0.05 A7 0.05 A7 0.05 475 0.05 A7
6l PV Y A R E 0 A W me/L 12 13 14 12 12
37l v v kB F o bt A& B mg/L 0.005A4 i 0.016 0.005 0.005A i 0.005 A7
38 | 1k 7 A 7 | me/L 10 13 9.3 6.4 6.1
9 vy a, v xv oy ns (@ E) mg/l 103 89 90 51 52
40 |7 % 7% 2 | mg/L 190 190 170 120 130
Al 4 & v R om & M A me/L 0.024 it 0.024 i 0.024 i 0.02A3i5 0.024 i
42 | = 7 A 2 | mg/L 0.000001 A ¥ 0.000001 A ¥ 0.000001 A7 0.000001 A7 0.000001 A7
4312 — A F v A4 YV KR v 3 A — | mg/L 0.000001 A 0.000001 A7 0.000001 A5 0.000001 A5 0.000001 A5
441 4 A& v Rom & M Al meg/lL 0.005A i 0.005 A i 0.005A4 i 0.005A4 i 0.005i
45 |7 e J — L ¥ mg/L 0.0005 A 0.0005 At 0.0005 A 0.0005 A 0.0005A7i;
4615 ¥ w» ( TOC © & )| mg/L 0.7 0.7 1.1 0. 37 i 0. 3
47 lo H fiE 6.7 6.5 6.7 7.3 6.6
48 S — — — — —
49 |= £ BT FETRL B TRL L X AN L X AT
50 |t fE i3 1 1 2 LA i LA
51 | f B 0. 1A 0. 1Aii 0. 1Aii 0. 1A i 0. 1A
9H19H 3H18H 3H18H 9H19H 9H19H
N ( 5 1% B A ) Mg Bt d Mg s s s
B o M FE K 100mL 0 0 0 0 0




